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1. TvEy GfeEl § U eEHA| % w9 A W
B aTel o, Frefefad § @ wE-a1 27

(@) wrefiEm
(b) wifrEm
(c) Hicwam
(@) R

2. T 6 Ja-qEn & FEww 8, fafafes 4 @
FH-91 7 Gfeferd g 27

(@) urRREm
(b) i
(c) Efatean
(@) Hfem

3. Frfefaa # 4 S-d a, 5@ 3 e el
T ==t 27

(a) T STEATFATES
(b) TS
(c) TEGSH
(d) FTEGH

4. ® UGl § TR & 994 & forg, Frefafaa
A Q4 $H-91 o ar] 27

(@) Hfcwaw
(b) %

(c) Tfifirm
(@) drfiEm
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5. Frafeafea waafe sfufea w fa=Er $if

aFe,0;4 (s) + bCO(g) — cFe(s) + dCO,

I il % Hgfaa TeEfE g 3
FA: a, b, ¢ IR d TNH F HM,
Frafefaa # | ==-81 gm?

(@) 3, 2, 3,/1
(b) 1, 3, 203
(¢ 2,3, N
(d) & 3; 281

6. T Aga dod A TRA qR F WIY-H1Y AFA W

Hi1 TgwH Hi Sl B

(@) = 1 A1 5 % ferg

(b) Torgd 1 @Y F9 FA & forg
(c) Seafsia s = Ui M & fog
(d) o= 6 i =9 W@ *

7. Ffeam amE (T) iR IfceTw aH (t) F

o= wét dau, Frefafad § ¥ FF-w1 27
(@) A3 Eaa I S &

(b)) T=t,

() T=t,-273-15

(d) T=t.+273-15

8. wfy a0 Frfofaa § & fored & St & ToR

Sl af

(@) &1 H W@ g did H AR

(b) T H T g 9t fi ufem (v)

(c) U H @1 g Hig H sy

(@) Trafd § v g3 aFel %1 @raa 959
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1. Which one of the following elements is
used as a timekeeper in atomic clocks?

(a) Potassium
(b) Caesium
(c) Calcium

(d) Magnesium

2. Which one of the following elements is
involved in the control of water content
of the blood?

(a) Potassium
(b) Lithium
(c) Rubidium

(d) Caesium

3. Which one of the following gases
dissolves in water to give acidic
solution?

(a) Carbon dioxide
(b) Oxygen
(c) Nitrogen

(d) Hydrogen

4. Which one of the following elements is
essential for the formation of chlorophyll
in green plants?

(a) Calcium
(b) Iron
(c) Magnesium

(d) Potassium

SPSS-D-XHI/49A

5. Consider the
reaction :

following  chemical

aFe ;05 (s) + bCO(g) — cFe(s) + dCO,

In the balanced chemical equation of
the above, which of the following will be
the values of the coefficients a, b, ¢ and
d respectively?

(@ 3,2,3, 1
() 1,3,2, 3
€ 2,3,3,1
@ @ 3, ¥1

6. Why is argon gas used along with
tungsten wire in an electric bulb?

(a) To increase the life of the bulb

(b) To reduce the consumption of
electricity

(c) To make the emitted light colored
(d) To reduce the cost of the bulb

7. Which one of the following is the correct
relation between the Kelvin temperature
(T) and the Celsius temperature (t.)?

fa) These are two  independent
temperature scales

(b) T=t,
¢ T=t,-273-15
(d T=t,+273-15

8. Sound waves cannot travel through a
(a) copper wire placed in air
(b) silver slab placed in air
(c) glass prism placed in water

(d) wooden hollow pipe placed in
vacuum

[ P.T.O.
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9. & MR F °7H, Frafafad # @ #H-71 87

(@ 107 cm
(b)) 10°° cm
() 10% cm

(d 102 cm

10. Fafafad FuE W faar fifsw

1. u% fre, St dged d R, W ¥ oy
T A B

ol T 1 Ham wea GUi& €

et fie &t nfasr o=t wea Otfdm @
H

I FE § QA BE-T1/A G 2/E7
(@ 1,23R3

(b) A 2 3R 3

(c) wad 1 3R 2

(d) Fad 1

11. Q& ©§ H wEwnel Fefaiea 4 | %/

for w fsf 2t 27
1. YT 1 e T9E

2. T & TEMERAES T

3. oW 1 IRAM

4, O F FHE I9E

= e g e w1 WM = wE W g
(@ 1,2, 334

(b) a1, 2 3R 3

(c) Faa 3 3N 4

(d) *ad 4
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g :

frfofaa | (7) s § @ FuA €, FYA1 IR
F 11, § Q1 hoHT 1 FEHIgE T A 3R
Hr fau g F2 F wEm W wE IW )

12.

13.

14,

2 :

(@) TH FYF ATT-3E FE & R FA 11,
FYA 1 1 GE SEH 7

(b) B W orem-srem @@ ®, TR
HYA 11, FIF 1 1 Gl TEmo e &

(c) ¥ 19 7, Fhrg oA 11 Ted @

(@) F917ed 8, g F a2

SYF 1 ¢

et w1 qam § *E it wEifas e

T w4, Wi 1w (fawae) 2 R
EERI

WAFH ® ¥, T O W© W@

(3ra) ® Foraeht mewd o diex | oft w6
RN B F3 ) H a5 B Gl ¢

SYq I :

AuFfda famd, 78 A T w9 F fawl@
(qftge) ot & 594 §1

HYF 11 :
g:wida faeal =1 foero (fwand), s
R ufy % Ieum (IFFA) F JFER fe s
21

w1 :
Temme-2ifmEl ¥ 3w fafte w9 @ wur weE
+! vefiid +d g1

E I

frdl femde-srfi § WUR dag, HEAR
Rt ST % o IE B () B

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

9, Which one of the following is the value of
one nanometer?

(@ 1077 cm
(b) 107® em
¢/ 107 cm
(d) 1072 cm

10. Consider the following statements :

1. There is no net moment on a body
which is in equilibrium.

2. The momentum of a body is always
conserved.

3. The kinetic energy of an object is
always conserved.

Which of the statements given above
is/are correct?

(@@ 1, 2 and 3
(b) 2 and 3 only
(c) 1 and 2 only
(d) 1 only

11. Working of safety fuses depends upon
1. magnetic effect of the current
2. chemical effect of the current
3. magnitude of the current
4

heating effect of the current

Select the correct answer using the code
given below.

(@ 1,2, 3 and 4
(b) 1, 2 and 3 only
(¢) 3 and 4 only
(d) 4 only

SPSS-D-XHI/49A

Directions :

The following seven (7) items consist of two
statements, Statement I and Statement II.
Examine these two statements carefully and
select the correct answer using the code given
below.

Code :

(a) Both the statements are
individually true and Statement II
is the correct explanation of
Statement I

(b) Both the statements are
individually true but Statement II
is not the correct explanation of

Statement I

(c) Statement I is true but Statement Il
is false

(d) StatementI is false but Statement II
is true

12. Statement I :
By far the most common topographic
form in a Karst terrain is the sinkhole.
Statement II :
Topographically, a sinkhole is a
depression that varies in depth from

less than a meter to few hundred
meters.

13. Statement I :

Incised meanders are formed in the
mature stage of a river.

Statement II :
Incised meanders are characterized by
rejuvenation and upliftment of land.
14. Statement I :

Portions of glacial troughs may exhibit
remarkably flat floors.
Statement II :

The flat floor in a glacial trough is
produced by uniform glacial erosion.

[ P.T.O.
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HA ;
331 Saarg & Si9 fafawdr samsa 9 8|

Y11

3 FEEg H AR I A FH
B 2|

FYA 1 :

SAR-9E 993 & TR H IAR-991E &, S
=EA1 AR G R TP T RN a6 R
9ot F quit F WYH T F FRO B R

YA 11 ¢

gedfl, afdm | o it IR e w2

YA 1 :

s Al &Er 4 fifed 8 whar & 9k =%
fig-9Te I TH W IER Sl 2|

HYA 11 :

Bl Aua @IE & HRU B Gl $ HIAH
| & & Siam) Hea B

ESCR
felt sfra (dafeq sfR-wg) & aift agad
3R freFRrEl (FrEH) & Fgd gY THE
$ afsea | 9 9T w2

Y 11 :

qTaE i TS ASfedl § I qreE e
H g #, dewAieEt i giga (S9E)
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SPSS-D-XHI/49A

19. o i fa-fagm d@adt vefa & ager,
Trafafed d @ F9-H w e goeh 27

(@) T HiA™
(b) SEATER
(c) FeArHR
(d) I A

20. WivEl #, Frafafaa § @ fFg yHR & G990
Tl § o9 SUfRd B 27

(@) ez

(b) HIgraTEe (IUTeEY)

(c) fRAETRE ()
() Yegeivarge (Siwh)

21. 37/97, S 9o W HEEd w8, $ SR A
Frafafas 3 ¥ FF-a1 3w o gafea 7€ 27

(@ T wSTEH (FE)
() Yohifiem . fufern (veamw)
(c) == |
(@ wWrfFm : 9E-11

22. Frafafgs § @ forg FilvmE 3 @ aEEEm
a1 &7

(a) 5

(b) s SR
(c) Tiicsil A
(d) TEEEm
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Statement I :

In Tundra climate, biodiversity is
comparatively less.

Statement II :

Tundra climate has less reproductive
warm period.

Statement I :

Tides are the rise and fall of sea levels
caused by the combined effects of the
gravitational forces exerted by the
Moon and the Sun and the rotation of
the Earth.

Statement II :

The Earth rotates from west to east.

Statement I :

A person may suffer from tuberculosis
if she/he frequently visits crowded
place.

Statement II :

Bacteria of tuberculosis spread
through droplets by sneezing or
coughing.

Statement I :

Bioaccumulation is a process of
progressive accumulation of heavy
metals and pesticides in an organism.

Statement II :

Large fishes of the pond are found to
have higher concentration of pesticides
than planktons of the same pond.

SPSS-D-XHI/49A

19. Which one of the following is a true

fish as per the biological system of
classification?

(a) Silverfish
(b) Jellyfish
(c) Cuttlefish

(d) Flying fish

20. In which one of the following types of

connective tissues in animals does fat
get stored?

(a) Adipocyte
(b) Chondrocyte
(c) Osteocyte

(d) Reticulocyte

21. Which one of the following pairs about

organ/part that helps in locomotion is
not correctly matched?

(a) Euglena Flagellum

(b) Paramecium : Cilia

(c) Nereis Pseudopodia
(d) Starfish Tubefeet

22. Lysosome is formed from which of the

following cell organelles?
(a) Nucleus

(b) Endoplasmic reticulum
(c) Golgi bodies

(d) Ribosomes

[ P.T.O.
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23. Idscdl fersr e TgaE™ § WA @ 26. WA ¥ Frefofaa & ¥ fra wm ¥, fawa &

gromy B ¢ o ¥' daRre & ffad dNF I=EH agFedE T SgvE R S
JTEeTRise T 6 AR @fdrd BiaT 81 3/ W\ R7

TR T TgEA % ot el v et g A

e a8 | B e e (@) S

(@) 2 (b)

) 3 (c) i

c) 4

¥ (@ TEEE

{@d 5

27. §H-1 # -1 F @y gifta Hfg st

z4.ﬁn%f@aﬂ;£zamﬂ,ﬁwﬁ@m gfrt % 2 Ry T g = W W wd sw
a1 IR B B ofe
(a) fag (ﬁﬁ?ﬂ) IR AfirEsa w_l -{;@_u
(b) W T (afmea /frgia) (siftraes)
(c) a7 FER 3 Hefred e i
| | B. arfg ag= Rigia 2. WeETEH
(@ pEa T e R @i C. v-siftefes woww Rl 3. e
D. foudi wery il ufwewn 4. SiHs@
25. v i doA-vea WHEn ¥ fow, Fefifed Lk
# ¥ FH-w W9 ?7 @ A B C D
2 4 1 3
(@) =ed, st Tl T 8 R fowarfa @
T & ) A B C D
2 1 4 3
(b) =TEd, s fediE TR | R fwaia
3 @) A° B C D

(c) | WFR F FEd
@ A B C D
(d) TeEN-HaTE 7Y 8 & -1 '8

SPSS-D-XHI/49A 8
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23. A protein is synthesized in the 26. Which one of the following places of
endoplasmic reticulum bound India experiences highest atmospheric
ribosomes and it targets to the inner pressure during winter?
thylakoid space of chloroplast. How
many double-layered membrane layers (@) Jaisalmer
it has to pass to reach its destination?

(b) Leh
(@) 2

(c) Chennai
(b) 3

(d) Guwahati
(c) 4
@ S

27. Match List-1 with List-II and select the
correct answer using the code given

below the Lists :
24. Which of the following causes adiabatic

temperature changes in atmosphere? List-1 List-II
(Hypothesis/ Theory) (Propounder)

fals Dofieniion; and adwelon Planetesimal hypothesis 1. Kober

(b) Latent heat of condensation B. Thermal contraction 2. Chamberlin
theory
(c) Expansion and compression of :
; C. Geosynclinal Orogen 3. Daly
the air
theory
(d) Partial absorption of solar radiation D. Hypothesis of sliding 4. Jeffreys
by the atmosphere continent
Code :

25. Which one of the following is applicable
to collision-coalescence. process of
precipitation? (@) A B c D
2 4 1 3
(a) Clouds which do not extend beyond

the freezing level (b) A B C D
2 1 4 3

(b) Clouds which extend beyond the
freezing level (c) A B & D
3 1 4 2

(¢) All types of clouds
d A B (6 D
(d) Cirrocumulus cloud 3 4 1 2
SPSS-D-XHI/49A 9 [P.T.O.
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28. FIEHTHR & FIIH § IHhie Y H e

@ 5 #) frefaRas § @ e ameel w
Iufedfa % SR 98 =9 et B7

(@) M
(b) ST
(c) Tasti
(d) e

29. F=faflas & 4 F9-H o, & s &

& Bt }7
(@) |92, =R (FREdeia) B 21

(b) A F wh T (o) ¥ T TR
% BB

(c) 9FE F Fo0 T 2 T HA A G
T &l

(@) s e TR 4 A F @t
=1 gug T R s e R

30. Frafdfaa # @ o et % o /e § s

HI Bl 27

Ca(HCO;),

CaCl,

MgSO,

e o T gz w1 @ AR wd I g

(@) 334

L

(b)) 23R3
(c) 134
(d 132

SPSS-D-XHI/49A

31. IR Hfcwm &1 wAN-FAH 20 ¥ 3R TR

TEHE-GET 40 B, @ Frefafaa & @ |¥w-m
o, Hicas 1 FwTie T gme

(a) = 7, Forad 20 Wil 3R 18 =EF €
(b) % 7w, ol 18 Wi 3k 19 =g &
(c) =%, foml 20 W 3 10 = &
(d) = aw, fad 18 Wi 3 22 =g §

32. ‘o vl = ooy I’ w1 wEy, Pl #

¥ fored frefim 2 27
(a) AT HgeH #1 Rrgia
(b) T = Togra

(c) Faramufa =1 R
(d) a9 #1 fre@

33. @4 & = gL N wifcas AR A Hergdl w9

A geet ar A1 e, gat AR 6 B
el B 98 AR 1 wfedy R B AR 2E At
| THEY Aoft F IR S R, @ F gty
Toraen Bm?

(@) 2
(b)

N %

w

() -

w &

@ —

S

34. GER A YW & I 9 G Hfs & 9@ B

2, @ 7' eferrge wdta B B 39 e
% fore fomer gftae

(@) VTR FHT TEA
(b) T HT Y
(c) ST T Yehroiq
(d) v F1 foaue (%)
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28. Bright light 1is found to emit 31. Which one of the following elements will
from photographer’s flashgun. This be an isobar of calcium if the atomic
brightness is due to the presence of number of calcium is 20 and its mass
which one of the following noble gases? number is 40?

(@) Argon (a) Element with 20 protons and
18 neutrons

(b) Xenon (b) Element with 18 protons and

(c) Neon 19 neutrons

(c) Element with 20 protons and

(d) Helium 19 neutrons
(d) Element with 18 protons and
29, Which one of the following is not a 22 neutrons

characteristic of a compound? 32. Which of the following represents a

(a) Composition is variable. relation for ‘heat lost = heat gained’?
(a) Principle of thermal equilibrium
(b) Principle of colors

(c) Principle of calorimetry

(b) All particles of compound are of
only one type.

(c) Particles of compound have two or (d) Principle of vaporization

more elements.

33. Two metallic wires made from copper
have same length but the radius of

wire 1 is half of that of wire 2. The

(d) Its constituents cannot be
separated by simple physical

methods. resistance of wire 1 is R If both the
wires are joined together in series, the
30. Which of the following substances cause total resistance becomes
temporary hardness in water? (a) 2R
R
1. MgHCO;), (b) 2
2. Ca(HcCoO
FCOska © >R
3. CaCl, 4
3
4. MgSO, (d) ZR
Select the correct answer using the code 34. When the Sun is near the horizon during
given below. the morning or evening, it appears
reddish. The phenomenon that is
(a) 3 and 4 responsible for this observation is
(b) 2 and 3 (a) reflection of light
(b) refraction of light
(¢) 1and4 (c) dispersion of light
(d) 1 and 2 (d) scattering of light
SPSS-D-XHI/49A 11 [ P.T.O.
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35. -1 I §H-1 & Wy gt Hifg ik

HeEl & e fig Y g2 w1 T W wE 3w
g

-1 g=-11

(amEe) (farferear)

A. vy (Rrm) 1. 9uf 33 e

B
C
D

. W (RH) 2. 9@ % 99F ®9
. auig (Frem) 3. Al w9 @ =63 amn
. FOrE (FpgeE) 4. fafest & i fewn

Herar gan

w2 :
@@ A B C D

3 1 4 2
‘) A°. B C D

2 1 4° 3
€ & B« €& P

2 4 1 3
@ A B C D

3 4 1 2

36. fafte anfie &3 (EEZ) W wefta adig w8l =

% 3 AR, FEfafaa § @ $9-a1 T
B7

(@ wemrim fRad & afs gaE
wa&07 3R 3

(b) |HR A Fo R HeF-TEw (WTERd)
afea a el =1 3w

(c) TR TEIEHT FT TEY SR yEUA

(d) SESi # AEEE SR SEEgd anl
(feret) =1 wenfua foman (fersmn) st

SPSS-D-XHI/49A

37. wia #, UsA1 ¥ Trefafaa # § fFw e 4,

Th e Faw % w9 A udhigd adm &
Yavq (ICZM) RS+ Faifea fm s
w27

(a) w,%aﬂwﬁm

(b) T, FAleH AR Y W
(c) TG, Iffem IR ufim sma
(d) WERTE, Y T IR Afterrg

38. UPH 51 HHHE (NWA) % =R ¥, Frafafaa

HYEI A A FH-1/Q wE B/R?

1. NWA &1 wufies 3va, S @A
A & fafim wegell @ F= o 7=
Al F Yara AlEaie % fou yfteo
%F U IFHE F3 & &9 J HA w2

2. NWA 7 feg & f@m 21

= fow U g2 1 W@ AW wd 3w gRe)

(@) Faa 1

(b) AW 2

(c) 1 3R 2 W

(d T@M13RIA2

39. dfd % T AR, Twd @ag 1 ¥ o Rws

IR =D # aTed A B, § ¥ forge wm
IvaEed B W@ ¥ R A &9 A @ ufE PR
afe T e famedi aren w Ygfifam % ar
Ta § SR 3H ¥ wH v veaifed w@ E,
&4 g3 Wit grft

(@) P

(b) <P

(c) >P

(d) 2P
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35. Match List-1 with List-Il and select the

o 0o w >

correct answer using the code given
below the Lists :

List-I List-1I
(Cloud) (Characteristic)
Cirrus 1. Rain-giving

Stratus Feathery appearance

2
Nimbus 3. Vertically growing
4

Cumulus Horizontally spreading
Code :
(@) A B C D
3 1 4 2
(b) A B C D
2 1 4 3
fc) A B ¢ D
2 4 1 3
(d) A B C D
3 %4 1 2

36. Which one of the following is not an

exclusive right of the concerned coastal
nations over Exclusive Economic Zone
(EEZ)?

(a) Survey and exploitation of mineral
resources of ocean deposits

(b) Exploitation of marine water energy
and marine organisms including
fishing

(c) Conservation and management of
marine resources

(d) Navigation of ships and laying
down submarine cables

SPSS-D-XHI/49A

37. In which one of the following groups of

States in India is the Integrated Coastal
Zone Management (ICZM) Project being
implemented as a pilot investment?

(a) Gujarat, Kerala and Goa

(b) Kerala, Karnataka and Andhra
Pradesh '

{c) Gujarat, Odisha and West Bengal

(d) Maharashtra, Andhra Pradesh and
Tamil Nadu

38. Which of the following statements about

the National Water Academy (NWA)
is/are correct?

1. The primary objective of the NWA is
to function as Centre of Excellence
in training for in-service engineers
from Central and State organiza-
tions on various aspects of water
resource planning.

2. The NWA is located in New Delhi.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

39. A wire of copper having length [ and

area of cross-section A is taken and a
current [ is flown through it. The power
dissipated in the wire is P. If we take
an aluminium wire having same
dimensions and pass the same current
through it, the power dissipated will be

(@ P

(b) <P
(c) >P
(d) 2P

[ P.T.O.
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40. fdl 59 %1 3@, TS h % WY P = P, +pgh

* &9 % yfafda 8 &, Sl p 39 59 F e
2| I8 o frad geit 27

(a) = w1 Fam
(b) =z w1 Fam
(c) wich 1 fergia
(d) snfEfEs % g

41. Igusd H fefafes 9o Wi w R

HfT
A

-

1
2. Tt
3. difeam
4. FEA SEIATFES

A & wiowaa & o ¥ IwfE W o
He T W, FrafaRaa § @ - 27

(@) 1-3-2-4
(b) 1-4-2-3
(c) 4-2-3-1

(d 2-4-1-3

42. vra & Fefafea & & fra va §, 39h 34

A § STgEHa St 6l S H
wiereraan stfrwam 27

(a) i
(b) TS
(c) W™

(d) STETEA oW

SPSS-D-XHI/49A

43, i # 3 fre vda § AR e

T 9T ST 77
(@) TR
(b) TH

(c) T
(@) Temrer

44, FTM, S 919, guwr, gae, Ree ik Memm

(3ue) =1 wad fag B, § Foafafes § 9
e waa 6 @t T H I 27

(@) FW

(b) €E™
(c) JIENR
(@) fom=e

45. 7 & i = weEs gl w eEw Hifs

e
Earii
TR
Tt

Igw A #1 9@ A ufim fit R w1 wd
e, Tfefad % § @F-w §7

-2

(@ 3-4-1-2
(b) 2-1-3-4
(c) 2-3-1-4

(d 1-2-4-3
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40. The pressure of a fluid varies with

depth h as P = P, +pgh, where p is
the fluid density. This expression is
associated with

| (a) Pascal’s law
(b) Newton’s law
(¢) Bernoulli’s principle

(d) Archimedes’ principle

41. Consider the following constituent gases

of the atmosphere :

1. Argon

2. Neon

3. Helium

4. Carbon dioxide

Which one of the following is the correct
ascending sequence of the above gases
in terms of the volume percentage?

(@) 1-3-2-4
() 1-4-2-3
(c) 4-2-3-1
(d) 2-4-1-3

42. Which one of the following Indian States

has the highest percentage of Scheduled
Tribe population to its total population?

(a) Mizoram
(b) Nagaland
{c) Meghalaya

(d) Arunachal Pradesh

SPSS-D-XHI/49A
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Extrusive volcanoes are not found in
which one of the following mountains?

(a) Alaska
(b) Rocky
(c) Andes

(d) Himalayas

44. Which one of the following crops is not

cultivated in Karewas, the lacustrine
deposits of sand, clay, loam, silt and
boulders?

(a) Saffron
(b) Almond
(c) Walnut

(d) Ling nut

45. Consider the following tributaries of river

Ganga :

1. Gandak
2. Kosi

3. Ghaghara
4. Gomti

Which one of the following is the correct
order of the above rivers from east to
west?

(@) 3-4-1-2
(b) 2-1-3-4
(c) 2-3-1-4

(d) 1-2-4-3

[P.T.O.
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46. WRd ¥ F=fafas § 4 F9-8 W =W 48. Tl % =R ¥, fafifes § 4 F-w wA

("vm@ 9k), UNEScO zm fag frmm g 27
(utieR) ity fapg g &7
1. ¥l ugE sam (@) <, FREFF T Y T P WE F RO
2. YA THE AH At R
3. T T S (b) @@ # W PREE, 3 f5 RBC,
4. ToER U SOH Bt B
I T
foT ¢ e =1 wEr W w3 g o NN _
(a) Fad 1 3R 2 $ w2
(h) Fad 1, 2 3R 3
() ¥ aada (d) HH, Had BEA H A A H FE
el B
(d) 1,2, 33K 4
47. G-l g1 F W g At s 49. i % Freifrfan # ¥ fr /R dan /a3
gfed % f= fow T %2 w1 W@ R gd W Bt T2 B 37 ;
g :
(@) T R ITTR
-1 -1
(= 7 /vee) (FEarem) (b) R AR whgy
A. W HH 1. fashetEmE () ¥ whgy
B. W 2. VS
C. dizm ney 3. TRER (@) S I
D. gi&u 7y 4. 3ATEIEG
2 : 50. o9 w1 AEARE #, fefifed § @
T e T=ge @ Uaa o1 i 27
4 3 2 3 R ——
) A B C D
4 2 I 4 (b) v
g A B C D
1 2 3.4 (c) TRl I
@@ A B C D
1 3 2 4 (d) TTE
SPSS-D-XHI/49A 16
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46. Which of the following National Parks of 48. Which one of the following statements
India are declared as World Heritage by about lymph is correct?
UNESCO?
1. Keoladeo National Park (a) Lymph is formed due to leakage of

Sundarbans National Park blood throuph capiliatics.

(b) Lymph contains blood cells such

2
3. Kaziranga National Park
4, Ranthambore National Park as RBC.

Select the correct answer using the code

given below (¢) Lymph is also circulated by the

blood circulating heart.
(@) 1 and 2 only

d) Lymph only transports hormones.
(b) 1, 2 and 3 only (@ d J

(c) 3 and 4 only

(d 1,2, 3 and 4 49, Which of the following classes of animals
has/have three-chambered heart?

47. Match List-I with List-II and select the
correct answer using the code given (a) Pisces and Amphibia
below the Lists :

(b) Amphibia and Reptilia

List-1 List-II
(Railway Zone) (Headquarters)
(c) Reptilia only
A. North Central 1. Secunderabad
B. North Eastern 2. Jabalpur (d) Amphibia only
C. West Central 3. Gorakhpur
D. South Central 4. Allahabad

50. Accumulation of which one of the
Code : following in the muscles of sprinters
leads to cramp?

(a) A B & D
4 3 2 1 ; ;
(a) Lactic acid
(b) A B C D
¢ 2 £ & (b) Ethanol
(c) A B & D
1 2 3 4 (¢) Pyruvic acid
(d A B € D
1 3 2 4 (d) Glucose
SPSS-D-XHI/49A 17 [P.T.O.
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51. fafma =mia fify (ETF) % sR 4§, Freafafaa

FoE H ¥ BT G TE 27
(a) 8 T T G B
(b) <EH fe-WR gea SEerdl g

() PEFA H8 W H ga #A z@d
YrEhad] FEa S ateal IR =W
e Bl B

(d) ETF % fou su# Faa wieufy go,
T fegm it guify ® & Ir Rl
ECE IR

52. U™ UyH wurell (NPS), fsht &3 ¥ afwfa

NPS, 8 J31 i sifywan g Frafafea § @
FH-Ht 27

(a) 5574
(b) 60T
(c) 6579
(d) 709

53. W fod &% I T @ ¥ wEehe 8

YS9 (PCR) W U% I=EH™ #ried (2
wId) =1 T R} 9% FHed, qra % g
T UREH, 9% AR AWI-aRdias-aad
PCR fo#fim #0 ¥ fov @ ges #mfm
(Tre ) %1 gama A F fom ) 39 Fea *
@ ¢ :

(@) HR Foiq
(b) ferren g
(c) T HATHA
(d) Ao THo Zaaeh

SPSS-D-XHI/49A
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54. WRd V@R 4 APTH & ¥ § JAHNRGH H

111 Fifes = A R s % o aR F

qare® Jed @9 A N ¥ @9 e e
2017 § AHTFEH 39| 98 e 6| T
T B Y

(@) §H
(b) IfeREH
(c) TSI

(@ =

55. F=fafas wu= & @ F9-w1/4 9vdg ==

YT % (IPPB) % R § w8l /%7

1. W W yforw fafRe o f @@
g R T R

2. THH $H < UETE Wi, dEuer 3N
IR, 6 T % WA RN 8 T
2l

ﬁﬁqmﬁwmmaﬁmﬁﬁm
(@) Fad 1

(b) a9 2

() 1 3R 23F

(d @M 13MMIA 2
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51. Which one of the following statements

about Exchange-Traded Fund (ETF) is
not correct?

(a) 1t is a marketable security.

(b) It experiences price
throughout the day.

changes

) It typically has lower daily liquidity
and higher fees than mutual fund
shares.

(d) An ETF does not have its net asset
value calculated once at the end of

every day.

52. Which one of the following is the

maximum age of joining National
Pension System (NPS) under the NPS-
Private Sector?

(a) 55 years

(b) 60 years

(c) 65 years

(d) 70 years

53. The Reserve Bank of India has recently

constituted a high-level task force on
Public Credit Registry (PCR) to suggest a
road map for developing a transparent,
comprehensive and near-real-time PCR
for India. The task force is headed by

(a) Sekar Karnam
(b) Vishakha Mulye
(c) Sriram Kalyanaraman

({d) Y. M. Deosthalee

SPSS-D-XHI/49A
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54. In October 2017, India sent its first

shipment of wheat to Afghanistan as
a part of commitment made by
the Government of India to supply
11 million tonnes of wheat to that
country on grant basis. The shipment
was sent through

(a) Iran

(b) Pakistan

(c) Tajikistan

(d) China

55. Which of the following statements about

the India Post Payments Bank (IPPB)
is/are correct?

1. It has been incorporated as a
Public Limited Company.

2. It started its operation by
establishing two pilot branches at
Hyderabad and Varanasi.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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56. T¥¥ ¥HAMYHR @M (NHRC) & &d

freafeifiaa § @ -2 ¥7
1. TE AR ¥ g W, a9 w6
U8 W S=-9gdred HET

2. Wifed g WH WWE WA IAuE &
YR W SA=-T8ard HET

3. FRE f Tm A IH F U SG =
T AT

4, wFE ARl & &3 § My +1 K o
3R T 1 eETied HE

1 faw e e 1 W W oEd I g

(a) Fad 1 3R 2

(b) Fad 2, 3 3N 4

(c) %aa 1, 3 3R 4

(d 1,2, 3314

57. T <At G6e & et off g2 &1 ve=a 29 &

for oiv wew 3 w9 H T I F Ry wm
B ®, AR 9 =

1. ¥Rd @R eE frdt 599 @@R %
Ff @9 W HE 98 U R g A,
q9e 3ufafy g aifte ot v & ume
% I TE I T F Blga

T feanforn &
WRd & dfaum &I qdl STggE F idia
AT IEE T 8
4. faftm Ram aen & ok w wam
AT g 3 1 Hiia R
H9 e T e = W W Ed W ghu
(@ Fa@ 1, 2 3R 4
(b) 1,2, 334
(c) Haa 3 3R 4
(d a@ 1, 2 3R 3

SPSS-D-XHI/49A

58. WRdH fHaled @M & R, W T T

* & F 9 BR & o & ueEifE @ @
Torem Tt # Ay TeEfaE @ ¥ w9 B
BT 99 &7

(@) FH-H-F7 T T
(b) FH-Y-FH TH TY
(c) FH-8-%H IR TH

(d) F9-8-FW gE T

59. UfH FUivA fafes % Hay ¥, Ffafad

HeET § Q P-4 GEl 27

(a) T Aefim Aifq @ gadq fasm 6
TR R B

(b) ' afd fawm & el fgaw %
I B

(c) ¥& WRA TE YRER Hedv HAOE &
yemEfTs o % o B

(d) w& fogm w dafeh fam f
HEEIE E B

60. ¥d Hfd FAR ¥ Haftg o4 1 wUg Frfafaa

H Q form /T otww /atqustt 3 femn mn 27
1. &5 IR aren

2. FHAR FUrEcl TSRIH ATl

3. 3z 7y wifzE

= faw MU 2 w1 W@ W EE W g
(@ H9d 1 3R 2

(b) 1,233

(c) Fad 2 3R 3

(d) a4 3
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56. Which of the following are the functions 58. According to the Election Commission of

of the National Human Rights
Commission (NHRC)?

1. Inquiry at its own initiative on the
violation of human rights

2. Inquiry on a petition presented to it
by a victim

3. Visit to jails to study the condition
of the inmates

4. Undertaking and promoting
research in the field of human
rights

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 2, 3 and 4 only
() 1, 3 and 4 only
(d 1,2, 3 and 4

57. A person is disqualified for being chosen

as, and for being, a Member of either
House of the Parliament if the person

1. holds any office of profit under the
Government of India or the
Government of any State other than
an office declared by the Parliament
by law not to disqualify its holder

2. is an undischarged insolvent

is so disqualified under the Tenth
Schedule of the Constitution of
India

4, is of unsound mind and stands so
declared by a competent Court

Select the correct answer using the code
given below.

(@) 1, 2 and 4 only
() 1,2, 3 and 4
(¢) 3 and 4 only
(d) 1, 2 and 3 only

SPSS-D-XHI/49A

India, in order to be recognized as a
‘National Party’, a political party must
be treated as a recognized political party
in how many States?

(a) At least two States
(b) At least three States
(c) At least four States
(d) At least five States

59. Which one of the following statements

with regard to Antrix Corporation
Limited is correct?

(a) 1t is a commercial arm of the
Department of Industrial Policy and
Promotion.

(b) 1t is under the administrative
control of the Department of Space.

(¢) 1t is under the administrative
control of the Ministry of Health
and Family Welfare.

(d) 1t is a commercial arm of the
Department of Science and
Technology.

60. Verses ascribed to poet-saint Kabir have

been compiled in which of the following

traditions?

1. Bijak in Varanasi
2. Kabir Granthavali in Rajasthan
3. Adi Granth Sahib

Select the correct answer using the code
given below.

(a) 1 and 2 only
(b) 1, 2 and 3
(c) 2 and 3 only
(d) 3 only

[ P.T.O.
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61. 9Edl Gt & H-, sy g & fafim

ol & gft foofyel =1 w9-fufor sms
B, SN T T B

1. 7% 3R firsg & e e 9o

2. Y gee H fafese  snenfa
EHIER

3. wﬁ@raﬂzmﬁﬁmmﬁﬁ@r{mﬁﬂ
1 FEIA!

= fow T F2 1 e W ad W g

(a) aa 132

(b) A 2

() Faa 133

(d 1,233

62. F&T % 104 Hed #, Fr=fafas & @ $=-m

T foame-quriEl ® yehr et 87

(@) 4 gF

(b) 3w

(c) =M &ld

(d) 3o @i

SPSS-D-XHI/49A

22

63. WA IEeH ¥ 9r #, Frefefaa s & A

FH-91/8 T /87

1. FAles & fpaml 6 weds wrfier sadht
Taferea w1

2. HEE 3R Herw § R-smwm fe-snfat
#t vrfertt saht fafldma @)

3. 3HH, 99 3R HEW 9 wyE § gt
IEan il w1 F w9 § 38 fafgd e
™ 97|

4. 1922 ® FHER | T IA-=w A
Al F @ ARIGH W g I9E 9,
s s it g0 3@ Rew w
FOd g e W 9w @ faolg
Tome |

= fow 7T g w1 w@m W w@ W gl
(@) ¥4 1

(b) 1, 23R 4

(¢ 233

(d) Fad 2

64. J9 2017 A 7§ R & st faome @™

FHFH ‘T8 §S A F Fx-fog (W)
v, frafafaa & @ #9-w o917

(@)
(b) STIH
(c) ST
(d) weh
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Sufi Silsilas
began to crystallize in different parts of
the Islamic world to signify

1. continuous link between the

master and disciple

2. unbroken spiritual genealogy to the
Prophet Muhammad

3. the transmission of spiritual power
and blessings to devotees

Select the correct answer using the code

given below.

fa) 1 and 2 only

(b) 2 only

fc) 1 and 3 only

(d 1,2 and 3

62. In the 10th Mandala of the Rigveda,

which one of the following hymns
reflects upon the marriage ceremonies?

(a) Surya Sukta

(b) Purusha Sukta

(c) Dana Stutis

(d) Urna Sutra

SPSS-D-XHI/49A

63. Which of the following statements about

64.

23

the Non-Cooperation Movement is/are
correct?

1. It was marked by significant
participation of peasants from
Karnataka.

2. It was marked by non-Brahmin
lower caste participation in Madras
and Maharashtra.

3. It was marked by the lack of labour
unrest in places like Assam, Bengal
and Madras.

4, It was badly shaken by the Chauri
Chaura incident in 1922 after
which Gandhiji decided to continue
with the movement on a much
smaller scale.

Select the correct answer using the code
given below.

{(a) 1 only
(b) 1,2 and 4
() 2 and 3

(d) 2 only

Which one of the following was a focus

country of the World Food India’, a
mega food event held in November 2017
in New Delhi?

(@) Germany

(b) Japan

(c) Denmark

(d) Ttaly

[P.T.O.
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65. A9 T FE@er—uwd 2018 (fawm gy

Sfied) weit f Ao, fefafea 4 @
FH-FT T M7

(@) TSTE
(b) TSEIM
(c) Ta

(d) T YW

66. TER HAEE 3 T ¥ H ‘dFeard el deEr

T 8 whet = ¥ o ww owd wwa (W
3fem) sEgft w1 Ry B )
AT 1 399 Thush foear =1 sgrEn 241 77
(@) @«

(b) TeFe-wmewm

(c) Hia

(d) o= fesmefam

67. WRd % Ffaflaa & & fFm ufew 3, grehs

foma wem ¥ faw ‘gieR (UNESCO)
;fmmasmam‘ﬁﬂz, 2017 Sfran
(@) FwmE He, e

(b) A T A, AR

(c) e A, Tgt

(d) FERAY HiR, HERATY

SPSS-D-XHI/49A
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68. fi=fafaa & A frg 4w =1 wra A ‘wften e

R w9, 2017’ #1 faam i ¥ g
et fpen?

() ST

(b) =M

(c) =e =ifan
(d) wifREH

69. WNA & ey ¥, fr=fiifad su= § @ f9-w

wel TE 27

(@) YRA % UM 12 §98 €eUMe IR T
200 B2 §ETTE B

(b) ¥W@ F AW (AEEH) H 95 Wi
¥R 79 § 68 Wiw =R H9ed g/
B B

(c) ¥RA A "YE T-T@ T 7500 km
2

(d) w98 FEFH, 2010-2020 #H, a9
2020 % T 300 MT 94 &Hal &1 Th
&g @l T B

70. F=fafaas suE § @ F9-91 w8 78 27

(@) ¥ MTCR # 2016 # wifée gatm|

(b) ¥RA A NSG i "ewa & fow 2016 &
T i e faan)

(c) 9Rd A 1996 H JMFE AGHaIR T
A I (FA3H) F1 T&E o)

(d) TgHSA < F YgEl H AEAE T35
(CHOGM), #ieel § 2016 # g8 ot
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65. Which one of the following States will

host the Nobel Prize Series—India 2018
(Science Impacts Life) Exhibition?

(a) Gujarat
(b) Rajasthan
(c) Goa

(d) Madhya Pradesh

66. The Ministry of Communication has

recently launched a Pan India
scholarship programme for school-
children called ‘Deen Dayal SPARSH
Yojana’. The objective of the scheme is
to increase the reach of

(a) sports
(b) philately
{c) music

(d) web designing

67. Which one of the following temples of

India has won the UNESCO Asia Pacific
Award of Merit, 2017’ for cultural
heritage conservation?

(a) Kamakhya Temple, Guwahati

(b) Sri Ranganathaswami Temple,
Srirangam

(¢) Meenakshi Temple, Madurai

(d) Kedarnath Temple, Kedarnath

SPSS-D-XHI/49A

68. Which one of the following teams was

defeated by India to win the Women’s
Hockey Asia Cup title, 2017?

(a) Japan
(b) China
(c) South Korea

(d) Pakistan

69. Which one of the following statements

about India is not correct?

(a) India has 12 major ports and about
200 non-major ports.

(b) 95 percent of India’s trade by
volume and 68 percent by value are
moved through maritime transport.

(¢) India has a coastline of about
7500 km.

(d) In the Maritime Agenda,
2010-2020, a target of 300 MT port
capacity has been set for the
year 2020.

70. Which one of the following statements is

not correct?
(a) India joined MTCR in 2016.

(b) India submitted a formal
application for membership of the
NSG in 2016. '

(c) India proposed the Comprehensive
Convention on International
Terrorism in 1996,

(d) The Commonwealth Heads of
Government Meeting (CHOGM) was
held in 2016 at Malta.

[ P.T.O.
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71. WG % HfauH % Frefafaa § 4 g daviea 3§ 73. WRA I Wyw @l gl Al avae B e

7z fafta form mn @ % wifofeg, &% @ (@9 Tva vATUTE), W wWRE e
mmaﬁrﬁmm%mﬁﬁ IR fawla @ aur TR fafim (3g) wiewmi
& F 15 wfewra @ it 7@ 2vfi? (3Fd WH) ¥ @ e S owEa R,
Frefafaa § @ fF-H 27
(@) 91df EINE (a) @
(b) 87al TMYE )
(c) Tim
(c) 9o74al HMy" (d) TR
(d) 90af TMu

74. forqq wTer™, YRa WR 3 T @ #§  atify
Tfea A ®, | 1 T@R, 2017 H HAH ieh
- wem fafiee, Jemer, swoww # g
e F HROT H W9 FwOh)| @ W@l w=

72. WRAE deEs H fiem & aR #, Fefafes # ”
PRI S AT, T F FH 21
1. W9 W GHEE TIRER, SRAE (a) o Teo Lo T
T I (b) i YE W AT
2. & 7@ AR W € % fa smgse
TS T ATieE el § W Segoe
3. yumi w@d § wda wen (@ o Lo e
19 fow g g2 71 v e wd Iwegf 75. TR 2017 #, wifEa # wow o o
Ten mica #, R @y fed 7 oper a3
(@) Faa 1 3R 3 U8 Y fhen =1 [ s 21 39 fben &1
: figwr, 38 4 =9 87
(b) 1,233 (a) S FY
(b) Y foew
(c) ad 1 3R 2
(c) G =
(d) e 3 (d) @l Ta
SPSS-D-XHI/49A 26
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71. Which one of the following Amendments 73. Which one of the following is India’s first
to the Constitution of India has indigenously designed and developed
prescribed that the Council of Ministers long-range subsonic cruise missile
shall not exceed 15 percent of total which can be deployed from multiple
number of members of the House of the platforms?

People or Legislative Assembly in the
States? (@) Astra
(b) Akash
(a) 91st Amendment
(c) Nirbhay

(b) 87th Amendment
(d) Shankhnaad

(c) 97th Amendment

74. The Ministry of Power, Government of
India has recently constituted a
Committee to investigate the causes of
the accident that occurred on 1st

(d) 90th Amendment

72. Which of the following about the role of November, 2017 at Feroze Gandhi
Indian Coast Guard is/are correct? Thermal Power Plant Ltd., Unchahar, in
Uttar Pradesh. Who among the following
1. Indian Coast Guard has been is the Chairman of the Committee?
entrusted with the offshore security
coordination authority (@) Dr. L. D. Papney
2. Lead intelligence agency for coastal (b) Shri Dhawal Prakash Antapurkar

ANl %8, Dugdgr (c) Shri Subir Chakraborty

3. Coastal security in territorial ‘(d) Shri P. D. Siwal

waters
Select the correct answer using the code 75. In November 2017, an Indian short film,
given below. The School Bag won the Best Short Film

Award at the South Asian Film Festival
held at Montreal. Who among the

following is the Director of the film?
(a) 1 and 3 only ;

(a) Anurag Kashyap
(p) 1, 2 and 3
(b) Dheeraj Jindal

(c) 1 and 2 only (c) Sujoy Ghosh

(d) 3 only (d) Samvida Nanda

SPSS-D-XHI/49A 27 [ PT.O.
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76. F9R 2017 #, WRd A Wo o A{ HW A

™ % @ = fire &t # R R
ghast wfedifar (efiem sifRm Sffg=io),
2017 1 WU UgH Sia1| 3= FreferRaa & &
g ot & fasran =ifta fora mn an?

(a) 48 kg
(b) 51 kg
{c) 54 kg

(d) 57 kg

77. f9g ga Rew, 2017 =1 fww  (yEm),

frfafas § @ #9-a1 87
(@) T 3R ared, e & forg waha

(b) TR F T@-9E (W) ¥ F MWW
B 2

(c) TR, Sfiaq &1 T 39 MR

(d) Tard, g @dt 6 gimme

78. TR wefired AMFARM (&W), 2017 &

forran, s @ F 7
(a) Torem i
(b) THo THo YUF
(c) ¥E ™

(d) ETE guiia

SPSS-D-XHI/49A

79. ‘§Ef@H (Barbarian) 98 % W4T % &R A,

Frafafad oAl 4 | ®F-91/9 |8 2/37

1. 48 fi% W& ‘T (barbaros) ¥ fern
T R, e a1 R, ww o1

2. TWH @1 39 YE 1 YEIT w9 S,
Tied TR gON & forg #a 91

Hr= faw T 2 =1y W T I gRE)
(@) Fad 1

(b) Fad 2

(¢) 13 2aH

(d JI@1mAE2

80. TmfaRaa wudl A | =F-w @ 7 27

(@ F@-s 3 gH 79 & $ulim I RN
UgGH, WrEgar % 9uik ufedel A
w-foels % w9 d A1 2)

(b) G- & IMIER, ATHI-Gad gH
frgia, sasfa & 77-g7 & faem &
HE A

(c) gEWA W, TS & YE4 HHT FE H
YAt U9TE IR S R

(d) AFE F WY TEE F GG I8 90 ©
F a8 qa-viR ¥ favse % =%
forgra @ wwifem )
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76. In November 2017, India’s MC Mary Kom
won the gold medal at the Asian
Boxing Championship, 2017 held at
Ho Chi Minh City in Vietnam. In which
one of the following categories was she
declared winner?

(a) 48 kg
(b) 51 kg
(c) 54 kg

(d) 57 kg

77. Which one of the following is the theme of
the World Soil Day, 2017?

(a) Soils and pulses, a symbol for life

(b) Caring for the Planet starts from
the Ground

(c) Soils, a solid ground for life

(d) Soils, foundation for family farming

78. Who among the following is the winner of
the National Badminton Championship
(Men), 2017?

(a) Kidambi Srikanth
(b) H. S. Prannoy
(c) Ajay Jayaram

(d) Sai Praneeth

SPSS-D-XHI/49A 29

79. Which of the following statements about

the usage of the term ‘barbarian’ is/are
correct?

1. It is derived from the Greek word
‘barbaros’ which means a
non-Greek.

2. Romans used the term for the
Germanic tribes, the Gauls and the
Huns.

Select the correct answer using the code
given below.

{a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

80. Which one of the following statements is

not correct?

(a) Al-Biruni identifies the Sufi

- doctrine of divine love as self-

annihilation with parallel passages
from Bhagavad Gita.

(b) According to Al-Biruni, Sufi
theories of Soul were similar to
those in Patanjali’'s Yoga Sutra.

() The Hatha Yogic treatise Amrita
Kunda had lasting impact on
Sufism.

(d) Hujwiri’s conversation with the
Yogis shows that he was impressed
with their theory of the division of
the human body.

[P.T.O.
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81. f=faflad w9 w fa=r Fifse .

“framEt @ o oty ITE i S @ fR
ITH U WA T2 WA F fou off givea @
Tt U ==t 21

e Wy | el f o % 9R d 39
F9F T 9 e Adg ot 61 7

(a) SRTEh Yoree
(b) SHeIEE S
(c) SH-sufew zafim
(d) Frerensn B

82. WM, W THIEA ¥ hl TH W@ B, g

it wifeferes faen =1 am Fa 27
(@) FFm

(b) forma

c) T

(d) <resr

83. 3Gl YA & AR i yayy % W FH

97

(@) TR
(b) TR
(¢) HAHR

(d) €l

SPSS-D-XHI/49A
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84. WRA HI &N I A FHEE-m ve&i (%) F

& AN Fw, Frefaiaa 9 | F9-|1 7@ 27

(@) WfFz, Feq, AR, AfRee Fd, Fd,
foifem, ¥R @, AfRAe w4,
A

(b) TS IHE, UEE AGee, TG
?ﬁa,ﬁﬂm,@m,wms ;
TR 9EE 9N, TR OEd, TR A%
LINS

(c) TS STHW, Wige AfRAz, Thigd
e, q9 Fed, fam F, R FAHER,
TR 9EE AR, TR AN, TR
et

(@ T offede, wffede, wffRde #ie,
HHTE, F2H, FAeR, e tefiRa, 9™
usfiRd, wefine

85. 9Rd & HegEard & R #, Fr=fafaa St §

Q BH-91/2 e 7 2 /87
1. 98 ¥Rd R %1 Ygan Ty fteed
a8l

2. 98 U% HUe 4w & fagmiitarl % fog
TR T 2

3. 9 W&R ¥ fou ©F Pl T
(F138et) B R

4, 3IgH Fgard o BN =fee, o=
e F UH A e % fo
HTEYES Bl & |

1 faw e e @ yEm = wE I g
(@ 1,233

(b) 23R4

(c) Fad 3

(d) *ad 1
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81. Consider the following statement : 84. Which one of the following is not

“So much is wrung from the peasants,
that even dry bread is scarcely left to fill
their stomachs.”

Who among the following European
travellers had made the above
statement about the condition of
peasantry in the Mughal Empire?

(a) Francisco Pelsaert

(b) -Francois Bernier

(c) Jean-Baptiste Tavernier

(d) Niccolao Manucci

82. What is the name of the literary genre

developed by the Khojas who are a
branch of the Ismaili sect?

(a) Ginan
(b) Ziyarat
(c) Raag

(d) Shahada

83. Who was/were the 10th century

composer(s) of the Nalayira Divya
Prabandham?

(a) Alvars
(b) Nayanars
(c) Appar

(d) Sambandar

SPSS-D-XHI/49A

a correct ascending order of
commissioned ranks in the defence
forces of India?

(a) Lieutenant, Captain, Major,
Lieutenant Colonel, Colonel,
Brigadier, Major General,

Lieutenant General, General

(b) Flying Officer, Flight Lieutenant,
Squadron Leader, Wing
Commander, Group Captain, Air
Commodore, Air Vice Marshal,
Air Marshal, Air Chief Marshal

(c) Flying Officer, Flight Lieutenant,
Squadron Leader, Group Captain,
Wing Commander, Air Commodore,
Air Vice Marshal, Air Marshal;, Air
Chief Marshal

(d) Sub Lieutenant, Lieutenant,
Lieutenant Commander,
Commander, Captain, Commodore,
Rear Admiral, Vice Admiral,
Admiral

85. Which of the following statements about

Attorney General of India is/are not
correct?

1. He is the first Law Officer of the
Government of India.

2. He is entitled to the privileges of a
Member of the Parliament.

3. He is a whole-time counsel for the
Government.

4. He must have the same
qualifications as are required to be
a judge of the Supreme Court,

Select the correct answer using the code
given below.

(a) 1, 2 and 3

(b) 2 and 4

(c) 3 only

(d) 1 only

[ P.T.O.

Download More Papers From GovtJobsAlert.In



Download More Papers From GovtJobsAlert.In

86. Tefaflad @ 4 frg deivm sfufam & <=q,

WA w9 ¥ fuftem &1 wfFfea R mn o
(@) 35af
(b) 36ai
c) 37af

(d) 38af

87. ffafas # § F¥F-w1, T 291, 2 Hawd’ %

forgia #1 g A §Y 1997 # =H F TH
T w17

(a) Tassa
(b) BT
(c) Tofsmam

(d) ATafts wfern

88. WRd & Ul % Hay #H, Fr=fafed wui § 4

H-91 GE TE 87

(a) WG # TEl % b I WG TE |
TFd E

(b) SH-HYHR TSI 1 91 GEUH B

(c) ¥RA H T H| 9RA §H § 94F BH H
iR 76 B

(@) T & afiufog 3 wew=t 6 sifiwan
w1, faum 9w % weel i Fa g
1 15 Viewra & gl 2

SPSS-D-XHI/49A

89. WG FI WHY Isiig F@ FSA1 (NWAP), a9

2017-2031 ¥ 9R ¥ F=fafes FoE ®
ﬁaﬁ?ﬁﬁm:

1. Ig del T asia FE 9 R

2. NWAP fafire &, =ifd 9ma 3 weeht
IR FASE W Feay 9iEdd @ veAd
ol J9El @ Gefta foeedt f w@fien
o 1

3. NWAP & 3§ 9% ¢ |

I A ¥ FH-91/F TR T 2/87
(@) a9 1

(b) FaA 1 R 2

(c) ad 2 3R 3

(d 1,233

90. a§ 2015-2016 % AWM, ¥R & fA=farad

TeEqUl (q&) M ¥ fFe @ A I
gfg (wferera &) omers W7

(a) 9135&1%?!8
(b) uftsroft (Rwredl) ImE
(c) &

(d) e
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86. Under which one of the following

Amendment Acts was Sikkim admitted
into the Union of India?

(@) 35th
(b) 36th
() 37th

(d) 38th

87. Which one of the following became a part

of China in 1997 following the principle
of ‘one country, two systems’?

(a) Tibet
(b) Hong Kong
(c) Xinjiang

(d) Inner Mongolia

88. Which one of the following statements in

respect of the States of India is not
correct?

(a) States in India cannot have their
own Constitutions.

(b) The State of Jammu and Kashmir
has its own Constitution.

(c) States in India do not have the
right to secede from the Union of
India.

(d) The maximum number of members
in the Council of Ministers of Delhi
can be 15 percent of the total
number of members in the
Legislative Assembly.

SPSS-D-XHI/49A

89. Consider the following statements about

National Wildlife Action Plan (NWAP) of
India for 2017-2031 :

1. This is the Third National Wildlife
Action Plan.

2. The NWAP is unique as this is the
first time India has recognized the
concerns relating to climate change
impact on wildlife.

3. The NWAP has ten components.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 1 and 2 only

c) 2 and 3 only

(d 1,2 and 3

90. Growth in production (in percent) of

which one of the following core
industries in India during the period
2015-2016 was negative?

(a) Natural gas
(b) Refinery products
(c) Fertilizer

(d) Coal

[ P.T.O.
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91. 3-foe, Wrd ¥R i WE -9 IS F

HWIA T Thihd a1 IR 8, S 31 e
e Nl (MMPs) #1 e ®) 3-fs,
Aefies Ay @ dgadq fawm, afse @
N B i @@ AR e § fREs g
FEiad Y 5 @ R7

(@) 221 FHeedl afdas

(b) THIfGE TSI fafies

(c) fam

(d) HCL THarsiE

92. siffe fred wgal % i #, Frrferfaq Fert #

q FH-41/4 wE /27

1. fam % 9 SR 9@ v v wgel & 3
ol B 3 sqr wEn A

2. A Wd, Iecies 3R fie WREPR ®
I e @ B

3. WRA F FRHSA 2, IAfed Reet FHgadi
% fou ge@ se1 wnfed s@u (A
d) 8l

= fog T gz # W@ = wd W g

(@ 1,233

(b) Had 1 3R 2

(c) et 2 3R 3

(d) Fa9 1
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93. T=fafEd 94 | fo=m Fifsw ;

‘T R TR 1 qaeE © v TR S e
TeA1 % A S © SR TH ITH Y e
Teg goeh! Ha1 F foe 99w war g1

TG HYA THEHT T a1 87

(a) @R 9H

() Tamae sfHa

(c) TETCH Tief

(d) WS-t

94, Hfyea &l (FRYGA) F GEATH, T A

HA o417

(@) T T

(b) o ARo YraTH
(c) sy &

(d) @t faaswrs

95. v R Iy % Tenedl gr uiftis wEsE &

fou swm R SR 99 @9 (SEE) H o
HEl 11 =417

(@) HeHaH! fasa
(b) reE TEd
(c) TSI THI
(d) faEmag

96. H-T T9E &1 foum, S g USEA 1 SER

g1, 319 ¥ fore gt Ha g0 @ veat fasfia
Toren T o7

(a) RremEER geaad

(b) TAsTgER ifern

(c) = -3

(d) wETSE. faeard
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91. eBiz is one of the integrated services 93. Consider the following statement :
projects and part of the 31 Mission
Mode Projects (MMPs) under the “A sound body means one which bends
National e-Governance Plan of the itself to the spirit and is always a ready
Government of India. eBiz is being instrument at its service.”
implemented under the guidance and
aegis of the Department of Industrial The above statement is attributed to
Policy and Promotion, Ministry of
Commerce and Industry by (a) Sardar Patel

(b) Winston Churchill
(c) Mahatma Gandhi
(b) Infosys Technologies Limited (d) Baden-Powell

(a) Tata Consultancy Services

@ Wipre 94, Who among the following was the
founder of Phoenix Settlement?
(a) Mahatma Gandhi

(b) B. R. Ambedkar

(d) HCL Technologies

92, Which of the following statements about % Panicdanath Pagore
the olive ridley turtles is/are correct? g

(d) Swami Vivekananda
1. They are the smallest and most

abundant of all sea turtles found in

the workl. 95. Name the platform us.ec_l for ritual
purposes by the kings of the
2. They live in warm waters of Pacific, Vijayanagara Empire.

Atlantic and Indian Oceans. (@) Mahanavami Dibba

3. The Coromandel Coast in India is (b) Lotus Mahal
the largest mass nesting site for the
olive ridley turtles. (c) Hazara Rama

(d) Virupaksha
Select the correct answer using the code

given below. 96. The idea of ‘Farr-i Izadi’, on which the
Mughal kingship was based, was first

developed by which one of the following
fa) 1, 2 and 3 Sufi saints?

) 1 and 3onl (a) Shihabuddin Suhrawardi
(b) Nizamuddin Auliya

(c) 2 and 3 only (c) Ibn al-Arabi

(d) 1 only : (d) Bayazid Bistami

SPSS-D-XHI/49A 35 | P.T.O.
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97. e <ig go-uy #, 9 gure v F1 famo

wHIfea 87

(@) fa77 fizs
(b) G fiew
(c) 3ATYgH fiew
(d) weTarar

98. WRd ¥ g WUl % anr #, F=faRad At 4 @

F-91 w9 A 27

(@) Q9 I9EA H T B oW § 3 A
T HEwq s

(b) A g2 3R = HeaRREl % wWiowwi &
UM (eR) 9|

(c) A arfo gemet & fea )

(d) A ATIR-TFT &% Ao foa o)

A & f=fafas o=at § A e =g i R{um
a1 6 di2l H gea gaifes 27

(@) WM ST
(b) ToEw

(c) TEA WM

(d) aferTg

FUARY TR H ToUTE <l WRe F AR,
Frafefiaa womt & @ F-a1/2 v B/87

1. I8 U% Jafes vk 71

2. Tl i a9 SRy F 998 o & fog
i T ot gem T R

= iy e g 1 W = wd W ghg

(@) *Had 1

(b) FaHA 2

(c) 1 32 3Ht

(@ Fd1ARAEA 2

99.

100.
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36

101. F=fafad geanedl § 4 - & 9o 39
gfed 9 % I4 & WY /e gafea T 27

fagemdt saddm fify i e
Yorelt SWIFT &1 YRHI—1985

(@)

(b)) GATT ¥F 35 BR 1 GHY—1994

(c) Tau =AUR T F1 IgEEFI—1995

TR Quid: geiagie IR SR (FTEeiE)

& WA—1971

(@)

102. wra-foesa i g (TBP) ¥ WR d,
TAfiaa weH | R Hifs .

1. ITBP, 1962 ® &1 91|
2. ITBP Yeia: U ved SRIfed 9 21

3. fufem v spomee wew & dmr ¥
f&w 2004-2005 # 3@H WEHE 6
T8 ITBP %! W@ ™|

4. 9d9A ® ITBP & 52 fawrfim (=)
FeTferT §1

I H A FH-8 HA T 87
(@) *ad 1, 2 3R 4

(b) ¥« 3 3R 4

1,2, 3 3R 4

(c)

(d) Fad 1, 2 3R 3
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97. Which Buddhist text contains an account
of the Mauryan Emperor Ashoka?

(a) Vinaya Pitaka

(b) Sutta Pitaka

(c) Abhidhamma Pitaka
(d) Mahavamsa

98. Which one of the following statements
about Buddhist Stupas in India is not
correct?

(a) Ashoka played an important role in
popularizing the Stupa cult.

(b) They were repositories of relics of
Buddha and other monks.

(c) They were located in rural areas.

(d) They were located close to trade
routes.

99. Which one among the following States of
India has the largest number of seats in
its Legislative Assembly?

(a) West Bengal

(b) Bihar

(c) Madhya Pradesh
(d) Tamil Nadu

100. Which of the following statements about
the Ordinance-making power of the
Governor is/are correct?

1. It is a discretionary power.

2. The Governor himself is not
competent to  withdraw the
Ordinance at any time.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

SPSS-D-XHI/49A

101. Which one of the following events is not
correctly matched with the year in
which it happened?

(@)

(b)

(c)

(@)

Inauguration of the SWIFT system
of electronic interbank fund
transfers worldwide—1985

Conclusion of the Uruguay Round
of GATT—1994

Inauguration of the World Trade
Organization—1995

Establishment of the first
wholly electronic stock exchange
(Nasdaq)—1971

102. Consider the following statements about
Indo-Tibetan Border Police (ITBP) :

1.
2.

ITBP was raised in 1962.

ITBP is basically a mountain
trained force.

ITBP replaced Assam Rifles in
Sikkim and Arunachal Pradesh in
2004-2005 for border guarding
duty.

ITBP presently has 52 service
battalions.

Which of the statements given above are
correct?

(a)
(b)
fc)

1, 2 and 4 only
3 and 4 only

1,2, 3 and 4

(d) 1, 2 and 3 only

37
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103. fr=fefad § ¥ F9-w & Ay gHaTiER
|t & 27

(@) T R TeFTTF AR | i
wfewn-o (sriferaT)

(b) Wizl & foeg Yewm F wft vHRi
(FT) F IEH W AT (FEH)

(c) 9HaAT 9Tl ARRAT % AR W
UG (FTH)

(d) Tawm F srfowr ® =Heon

104. wRd ® faf=q & @ § VVPAT % &8 U
w=2-&y, frafafad § @ #9-w@1 27

(@) T INEEESA 9 Hifee Id
(b) N AR AN S I

(c) a AfwETEe Tn Fifee 3
(d) A AERTEA TR AFEE T

105. wyHwEl F =R 9 (PMKSY) #1 ©F
v, Frafafas # @ S=-w =& 87

(a) &F-w w o= 3 fEw = sl
Excil

(b) Ta=r & i@l F=1 & & R F

(c) T H AT UFA & ¢ Ta-TX T
(TA-%1) ST 3TAPT ST B FGHT

(d) ITHaH AGEIS F FRO BN AT
& THaH | fFEE =1 59
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106. ‘Fafa 9y @5’ & =R #, Fafafaa a3
q FH-71 T 27

(@) I= 9y 1 F ZafEt ) faeeda w@r
% #Fit T e R

(b) TR HEA WV F foAT wH A R

(c) T= @9 % HAeR (srgiiEa) 1 ¥ fag
T AT B

(@) g& arfior whet f e (wef) ®
fore ws A R

107. F=fafEs FoA § @ FH-91 T 3N
Irfor Feed AT (DDU-GKY) % 9R § |8l
L

(@) I8 Todgs omfor wefral & fom Sl
e ¥ o1 Hivrer qEw FEHA 2|

(b) THEH ILFA VNG F SHITRRE AR H
SRR T § aee 2

(c) 3@ A w1 kW 55 faferm | oA
ity T aefivrsHl # wEE ggEE 2|

(d) Te 9t @ A qreh el F I F
T FEFH B

108. T SEUTE Hel fed »7
(@) ™
(b) e
(c) ST

(d) TR
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103. Which one of the following is not an
International Human Rights Treaty?

(a) International Covenant on Civil and
Political Rights

(b) Convention on the Elimination of
All Forms of Discrimination against
Women

(c) Convention on the Rights of
Persons with Disabilities

(d) Declaration on the Right to
Development

104. In the context of elections in India, which
one of the following is the correct full
form of VVPAT?

(a) Voter Verifiable Poll Audit Trail
(b) Voter Verifying Paper Audit Trail
(c) Voter Verifiable Paper Audit Trail

(d) Voter Verifiable Paper Account Trail

105. Which one of the following is not an
objective of the Pradhan Mantri Krishi
Sinchayee Yojana (PMKSY)?

fa) To  achieve convergence  of
investment in irrigation at the field
level

(b) To expand cultivable area under
irrigation

(c) To improve on-farm water use
efficiency to reduce wastage of
water

(d) To protect farmers against crop
failure due to natural calamities

SPSS-D-XHI/49A

106. Which one of the following statements
about ‘Niryat Bandhu Scheme’ is
correct?

{a) It is a scheme for mentoring first
generation entrepreneurs.

(b) It is a scheme for crop protection.

(c) It is a scheme for the vulnerable
section of the society.

(d) It is a scheme for monitoring rural
poor.

107. Which one of the following statements
about the Deen Dayal Upadhyaya
Grameen Kaushalya Yojana (DDU-GKY)
is not correct?

(@) It is a placement-linked skill
training programme exclusively for
rural girls.

(p) It aims to convert India’s
demographic surplus into a
demographic dividend.

(c) The scheme aims to benefit more
than 55 million poor rural folk.

(d It is a pgenerational poverty
alleviation programme.
108. Where is Hambantota Port located?
(a) Iran
(b) Sri Lanka
(c) Japan

(d) Pakistan

[ P.T.O.
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109. NIRRT (@) HPRHTE HEFEd H qé el

(STom) whiw % S aREeET e T
T eft g8 77

(@) T3
(b) <8
(c) =T®
(@) <heE

110. ST dRedd & foe wia sggem ff % an

¥, Fr=fefiad sl § @ F9-91 98 78 27

(@) FTEEH [E F @F F [ FA e
TEY 3R Tsg-waly iafaftEt i gem
¥ forg 7v Fifty =é 7w &)

(b) R ThIW TH FHE &% hH % ¥ H
ot T ?1

() ¥rdE F gauE wheg, @ By *
o ¥ =g g (Fe) R

(d) & @hH 2015-2016 | AT A 7T B

111. ‘SAMPRITI (8%fif4)2017’ & gF 44

A §, S 9RG 3R TF g W fi avE
e F i B TR T AW BT R?

(@) *ZH

(b) ST

(c) TIHEH

(d) TR

112. ﬁwmﬂm%mwrﬂﬁﬂu

Trad wafta 27

(@) HHEA | A Iedfteq
(b) @

(c) o Ty

(d) TR
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113. < fmr 9 Wit &\ F 9% e

BRICS firer wie el gon o1
(@) st

(b) W

(c) FHTareaT

(d) StEH

114. st 3R @i o =1 39 99w arn

o7

115. SEd 3EH, T 600-1200 $o & dRH,

# T /famwand frefafes & @ @R-H
?/’?

1. T GoW I aread o1, U9 3R I9E &
IrEAfas YT SIS Bl 1 |
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109. The projects under Coastal Berth Scheme
of the flagship Sagarmala Programme
are distributed over how many States?

(a) Eight

(b) Ten

(c) Twelve
(d) Fourteen

110. Which one of the following statements
about the National Adaptation Fund for
Climate Change is not correct?

(a) The fund is meant to assist
national and State level activities
to meet the cost of adaptation
measures.

(b) This scheme has been taken as a
Central Sector Scheme.

(c) The Indian Council of Agricultural
Research is the national
implementing entity for the fund.

(d) The scheme has been in force since
2015-2016.

111. ‘SAMPRITI-2017’ is a joint military
exercise between armed forces of India
and

(a) Bhutan
(b) Bangladesh
(c) Pakistan

(d) Myanmar

112. The judgement of the Supreme Court of
India in the Vishakha Case pertains to

(a) sexual harassment in the work-
place

(b) Sati
(c) dowry death
(d) rape

SPSS-D-XHI/49A
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113. The

first BRICS Summit, after the

inclusion of South Africa, was held at

(@)
(b)
(c)

Brasilia
Sanya

Yekaterinburg

(d) Durban

114. Who

deciphered the Brahmi and

Kharoshthi scripts?

(@)
(b)
(c)
(d)

115. Which of the

Piyadassi
Colin Mackenzie
Alexander Cunningham

James Prinsep

following is/are the

feature(s) of the Brahmadeya Grants
during ¢ 600-1200 AD?

1.

Their creation meant a
renunciation of actual or potential
sources of revenue by the State.

These grants could vary from a
small plot to several villages.

Most grants were made in unsettled
areas.

Select the correct answer using the code
given below.

(@)
(b)
(c)
(d)

1 only
2 and 3 only
1 and 2 only

1, 2 and 3
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116. Who is the author of Manimekalai? 119. Consider the following statements about
(a) Kovalan impact of tax :
(b) Sathanar

1. A tax is shifted forward to

(c) llango Adigal consumers if the demand is

(d) Tirutakkatevar inelastic relative to supply.

117. Which one of the following statements 2. A tax is shifted backward to
about the Elephanta Island is correct? producers if the supply is relatively
(a) It was given its name by the British more inelastic than demand.

after a large elephant structure
located there.
Which of the statements given above

(b) It contains one large cave. :
is/are correct?

(c) It is well-known for a spectacular
carving of Vishnu described in the
Vishnudharmottara Purana.

(d) 1t is associated with the Pashupata (@) 1 only
sect.
118. Which of the following statements about (b) 2 only
Sir Syed Ahmad Khan is/are correct?
1. He argued that India was a (c) Both 1 and 2

federation of ethnic communities

based on common descent.

2. His philosophy was very similar i feeithee 1 qor'3

to that of the Indian National

Congress.

3. He imagined India as a Nation o T .
State based on individual cifizen’s 120. According to the law of diminishing
rights. marginal utility, as the amount of a

; good consumed increases, the marginal

e The enrrienlam - ! e utility of that good tends to
Mohammedan Anglo-Oriental
College blended Muslim theology
and European empiricism. (a) improve

Select the correct answer using the code

given below. (b) diminish

(a) 1 only

(b) 2 and 3 (c) remain constant

(c) 3 only

(d 1 and 4 (d) first diminish and then improve
SPSS-D-XHI/49A 43 [ P.T.0.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SPSS-D-XHI Test Booklet Series

Serial No.

0212565 TEST BOOKLET
GENERAL KNOWLEDGE

Time Allowed : Two Hours Maximum Marks : 100

10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection.

You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,

mark the response which you consider the best. In any case, choose ONLY ONE response for each
item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
to take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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